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INVMS =-32313.08+ 0.5167 YM -6965.465 LR+0.4010 BOFIRM -1,4360 NCSM(-T)
+0.6672 CRDM

INVAS = 30803.96+ 0.2165 Y A- 3493.975 LR + 0.1868 BORRA-0.4692 NCSA(-)
+0.3164 CRDA

INVTS =-115577.5 + 0.3253 YT - 5346.165 LR +3.6738 BORRT + 0.3044 NCST(-1)
+0.6701 CRDT

INVOS =-112017.5 + 0.4818 YO -8739.989 LR +0.1064 BORRO -3.1907 NCSO(-1)
+0.6657 CRDO

YM = 130491.3 + 0.6132 INVMS + 3.4044 BORRM + 0.4530 CRDM

YA = 130138.0 + 2.4211 INVAS + 7.5456 BORRA + 0.5264 CRDA



YT =59500.63 + 1.4536 INVTS + 13.8203 BORRT + 0.2984 CRDT

YO 116460.4 +0.3983 INVOS +0.3186 BORRO +0.3827 CRDO

CRDM =-165181.1 +0.6372 YM + 24013.04 LR - 17414.35 RT + 3.3480 BORRM

CRDA =-207270.3 + 0.5829 YA + 10425.48 LR - 17545.76 RT + 52.3505 BORRA

CRDT =340811.4 + 0.6707 YT + 49270.62 LR - 33968.71 RT + 9.0355 BORRT

CRDO =480073.5 + 0.9041 YO + 87180.35 LR - 64596.01 RT +0.5996 BORRO

SAV = -185524.5 + 0.2530 YTOTAL + 10714.84 RT- 2747.014 INF(-1)
+0.2726 CRDTOTAL.

YTOTAL =YM + YA+ YT + YO

CRDTOTAL = CRDM + CRDA + CRDT + CRDO



5.2

90 A

52.1 .

INVMS = -32313.08 + 0.5167 YM - 6965.465 LR +0.4009 BORRM
(2.1691)* (-1.9837)* (1.8911)*

- 1.4360 NCSM(-1) + 0.6672 CRDM
(-2.0043) (2.2457) *

R =0.9927 F=3875941 D. .=21728

Y

U

6
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5.2.2

INVAS = 30803.96 + 0.2165 YA - 3493.975 LR + 0.1868 BORRA
(2.5541)%  (-2.8540)  (2.1345)*

-0.4692 NCSA(-L) + 0.3164 CRDA
(26925  (2.2831)*

R =0.9647 F=100.0987 DW. = 1.7745



7

523

INVTS = -115577.5 + 0.3253 YT - 5346.165 LR + 3.6738 BORRT
(1.9837)%  (-2.1947)*  (2.6549)*

+ 00260 NCSTC-1) + 0.6706 CRDT
(0.2548) (2.4224) *

R - 0.9929 F=397.1506 DMW.=1.7418



18

524 '

INVOS = -112017.5 + 0.4818 YO -8739.989 LR +0.10664 BORRO
(1.8846)*  (-2.9471)*  (3.2315)"

- 3.1907 NCSO(-L) + 0.6657 CRDO
(-2.4131)* (4.4384)"

R =0.9952 F=7448794 DW. = 1.6956
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YM = 130491.3 + 06132 INVMS + 3.4044 BORRM + 0.4530 CRDM
(3.0614)*  (2.3995)* (3.8144)*

R =0.9930 F=643.0333 DW. = 1.6081

( INVMS) ( CRDM )
(BORRM)
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5.2.6

YA = 130138.0 + 2.4211 INVAS + 7.5456 BORRA +0.5264 CRDA

(2.3621  (0.3077) (1.7883)*
R=09520 F=90.7169 . .= 16749
6 2 ‘
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5.2.7

YT=59500.63 + 1.4536 INVTS + 13.8203 BORRT +0.2984 CRDT
(4.8189)  (3.5656)  (2.2137)*

R =0992 F=940.6246 DW.=1.789

5 28

YO = 116460.4 +0.3983 INVOS + 0.3186 BORRO + 0.3827 CRDO
(23272)*  (6.8454) ¥ (2.9356)*

R =09938 F=7249485 DW. 2.0573
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529 ' o

CRDM = -165181.1 + 0.6372 YM + 24013.04 LR - 17414.35 RT
(4.1193)  (2.0112F  (-1.4278)

+33480BORRM
(4.3504) *

R =09919 F=5536270 . .=19251

GDP



52.10

CRDA =-207270.3 + 0.5829 YA + 10425.48 LR - 17545.76 RT

(2.7552)%  (0.92966)

+ 52,3505 BORRA
(2.3044) *

R =0.9648 F=95.8052 DMW. =18180

(-1.5153)

83
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CRDT = 340811.4 +0.6707 YT + 49270.62 LR - 33968.71.08 RT
(4.4404)  (3.3167)%  (-2.2520)*

+9.0355 BORRT
(2.1515)"

R =09984 F=384.1505 DMW.=1.8594



5.2.12 l

CRDO = 480073.5 + 0.9041 YO + 87180.35 LR - 64596.01 RT
(3.4288)* (18265  (-1.5466)

+0.59959 BORRO
(3.16011)*

R =09677 F=138.3007 DW.=19433
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5213 ?

SAV - 1855245 +0.2530 YTOTAL + 10714.84 R T -2474.014 INF(-1)
(5.4437)*  (18971)*  (-0.0014)

+0.2726 CRDTOTAL
(3.2599) *

R =0.9974 F=1358.353 . .=16531



11.
12.
13.

YM YA YT YO BORRM BORRA BORRT BORRO
+'k 4*
+* +'k
+*
4* A
INVMS  INVAS ~ INVTS ~ INvos ~ BORRM BORRA BORRT BORRO

+* +*
+* +

*

' ! YM YA YT YO BORRM BORRA BORRT BORRO

—F—
+* +*
+* +*
+* +4
RT INF() YTOTAL CRDTOTAL
+* . ¥ +*

CRDM  CRDA  CRDT

+*

CRDM  CRDA  CRDT

+*

IE

+*
+*

4_*

+*

RT

1*

+*

CRDO NCSM(-1) NCSA(-L) NCST(1) NCSO(-1)

+*
CRDO

+*

90
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t-test (exogeneous

variables) F-test

R (coefficient of determination)
(endogeneous variables)
0 ( Durbin-Watson statistic) autocorrelation

(simultaneous  equation)

Simulation

Simulation

Theil's Inequality Coefficient { }

y* o= t (simulated value of yt)



B

89

y* = t (actual value)
T =
t =
o 1 0=0 y*=y"
-1
(2528)
0.1 Bias
Proportion ( ) 0.2
0.1 6 0.2
( (6.1)
5.2 Simulation

INVMS  INVAS INVTS INVOS YM YA YT YO CRDM CRDA GRDT CROO SAV

0.025 0.045 0.022 0.019 0.023 0.038 0.018 0.020 0.050 0055 0.042 0.059 0.024
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.012 0.000 0.014 0.016 0.000
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Theil's Inequality Coefficient ( )

(trend)ii
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? (exogenous)M
(endogerious)w

(INVMS LINVAS , INVTS 1INVOS )
(YM YA, YT, YO)
(CRDM 1CRDA , CRDT , CRDO) (SAV)

5.14
(BORRM) (INVMS)
(YM) (CRDM)

(CRDM)
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99

LR

+ +
A
R < /-\ “,‘\1_‘»/
CRDTOTAL)——-—
[ r/
) ;
O (endogenous) )

(exogenous) p—
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(YM)

(YTOTAL)
(CROM)
(CRDTOTAL)

(SAV)

(INVMS |,
YM L1CRDM)



i
u
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( YTOTALA

(CRDTOTAL)d
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(INVTS) (YT)
(CRUT)
? U
?
? i
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4
9 gl
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(YTOTAL)

(CRDT) (CRDTOTAL)

] (SAV)
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(Y0)
( YTOTAL)
(CRDO)
(CRDTOTAL)

(SAV)
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